




QUESTION 20 

TOTAL POINT VALUE: 3  LEARNING OBJECTIVE(S): C1 

SAMPLE ANSWERS 

Sample 1 

 The calculation formula for equity in unearned premium is wrong. It should be Net 
Unearned Premium – Net Policy Liability + Unearned Commissions + Premium Deficiency 

 When the equity in unearned premium is lower than the DPAE, the AA should reduce the 
DPAE to the equity in unearned premium, not book it as a premium deficiency. Premium 
deficiency is only booked when the equity in unearned premium is negative. 

 The AA should reflect the court decision in her work instead of only describing it because 
the court decision occurred before the calculation date and was material. 

 Discounting periods for premium liabilities should not be the same as claim liabilities. The 
AA should adjust the discounting period to account for the average accident date of the 
UPR. 
 

Sample 2 

 As there was a rate decrease recently for all lines of business, the AA should adjust all 
expected loss ratios to the future period, not leaving some at the historical observed 
levels. 

 The AA included deferred tax assets in her analysis of premium liabilities. These should 
not be included in a premium liability analysis so she should exclude them. 

 The AA considered only senior management and directors when determining materiality 
of the calculation error. All users of the report should be considered when determining 
materiality. 

 The formula of equity in unearned premium is incorrect. It should be MAX( 0, Net 
Unearned Premium – Net Policy Liability + Unearned Commissions) 

 

EXAMINER’S REPORT 

Candidates were expected to know the CIA standards of practice and educational guidance 

regarding premium liabilities valuation. 

 

Common errors included: 

 Stating that the actuary’s work must be adjusted for the calculation error even though it 
was not material. 

 Stating that MfADs must be the same for premium liabilities and claim liabilities. 


